Name: Date:
Teacher: Class:

Subtraction 310

Which is the longest word in the dictionary? "Smiles".
Because there is a mile between each "s"!

Subtract these. Some questions involve trading, some do not.
Can you do it?

3. 59 ¥ 76 B g4 M 76 B 95 3B 6y
— 44 — 47 — 57 — 28 — 40 — 38
37 93 38. 47 39 63 40 39
— 48 — 34 — 37 — 25
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Answer Key Date:
Teacher: Class:

Subtraction 310

Which is the longest word in the dictionary? "Smiles".
Because there is a mile between each "s"!

Subtract these. Some questions involve trading, some do not.
Can you do it?

64 -4 28 -4 62 66
17 4 14 32 13 14
! 88 8 53 9 47 1040 1. 66 1293
_ 38 _ 48 _ 40 _ 28 _ 44 _ 81
50 5 7 12 22 12
1337 14 69 15 74 1B 44 W 53 18 b5
— 32 — 25 — 65 — 29 — 25 — 27
S 44 9 15 28 29
19 76 20 59 21 75 22. 56 23 89 24 79
— 37 — 39 — 68 — 34 — 20 — 69
39 20 / 22 69 10
25 78 26 99 27 67 28. 66 29 77 30 78
— 32 — 60 — 33 — 48 — 55 — 30
26 39 34 18 22 48
Bn 59 @ 76 B g4 ¥ 76 B/ 95 B 68
_ 44 _ 47 _ 57 _ 28 _ 40 _ 38
15 29 27 48 55 30
37 93 38 47 39 63 40. 39
_ 48 _ 34 _ 37 _ 25
45 13 26 14
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